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USB %k X 1
DHT 11 fitk X 1
N TR, FAMCa5hH 17—/ MBallalAlns, Mtz
int DHpin = §;
byte dat[5];
byte read_data()
{
byte data;
for(int i=0; i<8; i++)
{
if(digitalRead(DHpin) == LOW)
{
while(digitalRead(DHpin) == LOW); /%4 50us;
delayMicroseconds(30); /W sy Ha~F- IR LN TR], DLADEE R & 07 ik 17
if(digitalRead(DHpin) == HIGH)

data |= (1<<(7-)); NEAIAERT, MCAILE)S
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while(digitalRead(DHpin) == HIGH); /%l ‘17, 2565 N7 i,
}
}

return data;

}

void start_test()
{
digital Write(DHpin,LOW);  /[Hfufilisi 4k, KITUHTE 5
delay(30); //4EWTE KT 18ms, LAE DHTL1 REALI 24515 5
digitalWrite(DHpin,HIGH);
delayMicroseconds(40); //554F DHT11 M i ;
pinMode(DHpin,INPUT);
while(digitalRead(DHpin) == HIGH);
delayMicroseconds(80); //DHT11 /& Himif, A% E 4k 80us;
if(digitalRead(DHpin) == LOW);
delayMicroseconds(80); //DHT11 1= i £k 80us Jii JT4f A% Bk
for(int i=0;i<4;i++)  [EWGRIEEEYE, KRB AHEIE;
dat[i] = read_data();

pinMode(DHpin,OUTPUT);,
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digitalWrite(DHpin,HIGH); [/ 18 58— IR G B 26, 85847 EHLI T — Ik IT
UEIEREE
¥
void setup()
{
Serial.begin(9600);
pinMode(DHpin,OUTPUT);
¥
void loop()
{
start_test();
Serial.print("Current humdity =");
Serial.print(dat[0], DEC); /%7~ & i) 3 K47
Serial.print(’.");
Serial.print(dat[1],DEC); /I @7~ B i)/ NEAE s
Serial.printIn("%");
Serial.print("Current temperature = ");
Serial.print(dat[2], DEC); /%7~ B i 3 K47

Serial.print(’.");
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Serial.print(dat[3],DEC);  // S i 5 i /INELAT
Serial.printin(‘C");
delay(700);
¥
G 7, BATEIAAR g e, gl E AT LA SR T, AR F AL
WA TR R e 2 D, TR BEANBAKER), nHEH 7 **
B, TAHERERFEEA Arduino tir-, ARG IEA KA HIFTIT Serial

Monitor & 1, &, SiRHKT, M, AT RXA!

comd - [ x|
" Send

Current humdity = 29. 0% _:J
Current temperature = 27.0C
Current humdity = 29 0%

Current temperature = 27, 0C
Current humdityr = 29. 0%
Current temperature = 27. 0OC
Current humdity = 29. 0%
Current temperature = 27. 0C
Current humdity = 29, 0%
Current temperature = 27.0C
Current humdity = 29 0%
Current temperature = 27.0C
Current humdity = 29. 0%
Current temperature = 27, 0C
Current humdityr = 29. 0%
Current temperature = 27. 0C
Current humdity = 29, 0%
Current temperature = 27.0C
Current humdity = 29, 0%

Current temperature = 27.0C

-

W futoserell |Wo line ending ﬂ |‘3E.I:II:I baud ﬂ

TATHHNTREE, F 2 )leoooo. BhARATAZN?
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Current humditryr = 21. 0% j
Current temperature = 30.0C
Current humditr = 21. 0%
Current temperature = 20.0C
Current humdity = 31. 0%
Current temperature = 30.0C
Current humdity = 31. 0%
Current temperature = 30, 0C
Current humditr = 21. 0%
Current temperature = 20.0C
Current humditr = 30 0%
Current temperature = 31.0C
Current humdity = 20, 0%
Current temperature = 21.0C
Current humditr = 20 0%
Current temperature = 31.0C
Current humditr = 30 0%
Current temperature = 31.0C
Current humditr = 200 0%

Current temperature = 31.0C

*

v hutoseroll |Ho line ending j |95EID baud ﬂ

AW, BRI R T, NIRRT DU RIS T ORI T M e oo oo ABATE T RIAT
Xt JL AT
B coma -] x|
| Send

Current humdity = 51. 0% ﬂ
Current temperature = 2% 0C
Current humdityr = 523 0%
Current temperature = 28 0C
Current humdity = 54. 0%
Current temperature = 2% 0C
Current humdityr = 53. 0%
Current temperature = 28 0C
Current humdity = 35 0%
Current temperature = 2% 0C
Current humdityr = 53. 0%
Current temperature = 28 0C
Current humdity = 56. 0%
Current temperature = 2% 0C
Current humdityr = 56. 0%
Current temperature = 28 0C
Current humdity = 56. 0%
Current temperature = 2% 0C
Current humdityr = 56. 0%

Current temperature = 28 0C

-

W fntoscroll |He line ending ﬂ |EIE:EID baud ﬂ
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